Lechwe 1. - tone jcmucg crash course.

#ow (70) M(d a fone llang-‘

Idea.: comshmckt om q#.u.a (Lleter ,flIU/tdwe)
voudhy  fosu a combinatovial obfect

C&): The Cowt .
nu
Lef 4":’5;:, e R™. The s (=4 neR ,xs,\,\‘.g_e)m\‘,

o plydrad e (it mbmal N 0

A Queratss of T

N2 Z cR Ahe wnctenlyif foie.

f.x : T iz
04 l\\% lw \:\\V )l

() (2) (2)

Crme dualily : (of R (o te ol of R*%
£,> He asual poinng -

(il"-. {ue (ﬂZ"‘)“ [Cw,v>30 ¥ve 7
\ S dbs wmdAbying bthee is M= #mu(A/,Z)

P ™




;Ou'r oluals : ] \a;oa;amﬂd
0) A % "‘°O‘L\>0_\ o, conackers.

) ///

e A Come (S sm ety | # dotm
Contoum o lne Hhrough e ordn.
(mk daot e dual e#_SC Cont § mat mec.’So}

oA
® Fms oﬁ ¥'. ~ 1 > & Xl'self.
B 00 oo M"J\

Rk If Tis andt polyhdral gme=0 TON
‘ Dog & pumoid s:{mdure.(,f.g-)
D

S ot ol L 3 A eS of



#h€eS Sz AR+ A Qe A0

\

Vv

T 4 3% L% (2,-2), (n,0), (4,0)
We duoose 80-3‘2 ﬂynl"l

—> Jm 3w¢ml= His clove o 3mm4m corregp.
do dpltWQﬁou oé. e ,’:9 a.lgz/om.

Q’V - @C’C,.—.xm’)/rw

(b Xl = Spec ?T- ([[»:2;243
) @A

B—k— © The I°- Lhowsowo P(P‘M'S'M- 'ZM'—b CE—tu ; %1-?:]
A, —, )—> 27’;_.;:"“=:%“

& o Soworpliun behweeu i
2" audl muowic launw wowouals

—P take R ={fe@(z ") \&ﬂn#cﬁ"nn}
The fitle  is 40 rewnl this @ am alaxbm,

x,}:ME)(‘.%:"_af(CJ) ‘_‘i ,\i —~
02=(1c) — R;* CCZU%‘ q*?‘z'/h]

L a :(2,-!)
| [l - ol /




relanon: @, < Qq =242 MW=V |.

—————————

Xq. = e a..“{m. fonc UM‘C% associekd 4o T
—b ~f T 45 o([mmx(ﬂw»e olina  tmside ﬁ?.q\)
Houw dim Xcr =M.

Where is 4a fous bl acks omX/

Let @, -- Q4. At gom of Sp | dlie- T2
One o anbecl tha ly Aous T=0x)" sn X
CMEEHHCE L

} (4_04) I ﬂ‘_a««) é(([‘x)

AV
(.b en s +oe :Zunhmg JMI,-

€ Xg-
This  dmduees
am  ackon of T J () n X

O%Jeck #2: FANS @

b ajon = CR™ 4 pinite cobleckon of-
Sfrmg‘a Comuex w&dhdm.ﬂ ow of.
- every ,ﬁzaq,f. aeowe TES is atmein2,
il T% T'ae cmes = TG & a coumo~




Mk R
(

<l

dme caw\buklo(aww‘&@ XZ ga?ha,; &?J&us
affive prees Xe ¥ TeX if we ket Am ol

<0 = %?5’ e Saagq‘ o XLC‘XW'

f 9
"ita Jau cr.‘—

e flis also a fonc V‘OM%
Exouples () Build B from
(o]}

= Jomax  comes
—l‘h = Xm 24 Cl
- Whem aluu‘né —[&wa‘-({..g,
&th‘ cliaafs om ELW

(2) Build 'ibe-'*!’z ‘Pm

s 04

(3)  Duild #he hrbruee sucfaa Fa  Jrow

o1

A0
0-f

-4, -0



Geomemcally : 5 complele *
A rf;Z 3 & Xs s coupach

+ olima L = XZ (s 11?9]‘&0"'\/3.

The orleit = cone correspondenc

(T es Y atto | Ty -orkits
BE

oL - §@) = Hom (T01,€")
/A
o
Fluis is a

Aorus .

. obme O(FT) = m-olins (T)
—0 4f T is a rag , Afs orlnt is an'l)fdthg'(
toms -

. 0(z) = V@)
q

—0 Q(T) s a tonc von o,]‘f dima u-1.

=D jf A5 a OuvisSor om Xz_

For a % f‘t’ 42", 5 ']),’- s Q(y‘) o. Wedl divisor

Top : The Dy 8mcmit Dﬁvm[xg)



=T K: X o D1 AL a fomus - jmv. duvisor.

Fack = lek nj e ZM be fnmhve aqu'DfS G;F

e ragps of X5 1f fl'ﬁ% ae the vedices
of a convex foﬂjudfm'? ((whic mdw-tahcdg
toabains 0 son ifs S tmbkenor ) |

X ds a Famo VMW&@('P'SM% J-.m?Mfar)

Wecall o P — cul 0 in its ind.
\ hawieg primwtive rerfices

g S—imguiar\'hts § Ko oe aosier fodeleCawmale.

—  Jsolakd .

—o  geroumad [feomomicak 5 discrepovaies
—o NP

—  Xs (s Coreuskin J@- Gortrsteim .



L} :

W R

—» altom < a pamf ‘ s—,m#.,,lu-
P (’ng JF
i s 'aeutrouf-ors do mot frru o bass

% Z. S5
—_— 4 v ‘S S'l‘mr’b' Y 2
As m

(HEE
o 74 T ...rsméw y ifs Simg . e
Mc ﬁ_uohw" g ur order i
[N: L Zv,€._6 2Lu.,) .



